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Rs Baud
Ro
| bit/s
R =Rlog, N
N
1-1 3s 9600
R R
R -2 -0 200 Baud
T. 3
R, = R;log, N =3200x log, 8=9600 hit/s
n

/ Baud/Hz

, B

B
B
R
R
P.= R =
1-2 2400bit/s 1h
216 P, R,
R, =Rlog; N
& — %
log, N
R= R, _ 2400 _ 1200 Baud
log, N log, 4
1h
1200x 60 x 60 = 4.32x10°
R= Aﬁ =5x10"°
4.32x10

R =PR.log, N=5x10"°xlog, 4=1x10"*



hath God wrought”

Bell

1901
1906

Armstrong

BBC

1.3

Marconi

Mathematical Theory of Communication”

1950

1950

1952
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1959

1963
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12 12
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2 28

20
120

960

60kW
55
60
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1844 Morse “ What
1864 Maxwell 1875
1904 Fleming
Reginald Fessenden 1918
1936 1936
1937 Reeves 1948
Shannon “A
1871 12
1951
9 24
12 2
12
5 6
60
1
1973
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1978

1980

1982

1983

1984
35786km

1984

1985

1986

1987
1987

1987

1988

1988

1988

1989

1989

1989

1990

1991

1991

256

120
64 DJ5-131
8
9 16 150MHz
4 8 DFH-2 2
16 125°E
5 1 150MHz
S-1240
3 87
7 1 7 2
DS-2000
34Mbps

9 20

1 700
34K bps
3 27
5 9
1920 140Mbps
5 11
6
7 800MC
1 1920 6GHz

3 ISDN

622Mbps

4380

HJ09

160

75km

140Mbps



1991 11 15 150MHz

1992 7 168
1993 9 19
1994 10 5
1998 5 15 CDMA —133
1999 1 14 8x2.5Gbps
DWDM 8
2002 1 8 ! " CDMA 3
5000 CDMA
CDMA
2002 5 17 5 17 GPRS
——GPRS
2.5G
1.4 MATLAB
MATLAB Clever Moler 1980
. ? Matrix Laboratory
MATLAB
MATLAB
“ " Windows
MATLAB
1
MATLAB
a=8

a=[12345 a=1.2345
A=[123;456;7 89
1 2 3
A=|4 5 6
7 89

x=[12345]+2



X=
X=

X=
X=

X=
X=

X=

[1,2,3,4,5]%2+[2345 6]
4 7

[123].%[2,34]

2
[369]/[133]

3
278
256
27[135]

2
[135].2

1

[123].7[234]

1
[234]7N123]

2
[123:456]+[111222]

10

13

12

32

25

81

16



. 10-

x=[123;456]-[{111,222]

X=

x=[123;456]*[11,22;33]

X=

x=3+[123;45 6]

x=[123;456]
X=
sn
X=sin(pi/6)
x=0.5000
e exp
x=exp(2)
X=7.3891
abs
x=abs(1+j)
x=1.4142
sort sum

14
32

14
32

12 15

Cos

log

angle

max

conj

tan

log10

red

min

x=randn(1,50);I=length(x); m=max(x);n=min(x);

=50

atan

srt

imag

mean

std



m=2.3093
n=-2.0543
4
MATLAB
1 plot
plot(x,y,s)

1-1

1-1 MATLAB

O

3 |x |@

<

x=linspace(0,2+ pi,60);

y=cos(x);
z=sin(x);
plot(x,y,’g’ X,2,r" Xy, b X,2,’k+")

1-6

0.8

0.6

0.4

0.2

0.4

0.6

—0.8

1-6

11.



2 hold clf

hold
clf hold
3 grid  axis
grid on grid off
axis X y
axis([xmin,xmax,ymin,ymax])
4 xlable ylable title
xlable str X str
ylabel  str y str
title str str
5 figure close
figure figure(n)
close close(n) n
6 subplot
subplot

x=linspace(0,2+ pi,60);

y=cos(x);
z=sin(x);
subplot(2,1,1)
plot(x,y,’a’,x,y,"b*")
subplot(2,1,2)
plot(x,z,’r’,x,z,’k+’)
1-7
Ly . : : . K
%_***— ***W
N * +
05F ** -
* F
* .
0 * . _
¥, T
** *%k
—0.5k *_* ** i
*** ***
,1 1 1 ****Uil-l—t*'** 1 1 |
0 1 2 3 4 5 6 7
1
051 |
0 4
,O 5 - 4
1 1
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1
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R, = 2400 bit/s

360
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2.1
211
% I
1
| =log,——
p(x%)
p(%)
a a bit
a e a 10
2
2-1 A B C D
A B © D
14 18 12 18
“ BABCCDBDCBBAAB”
| =log,
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|A=m%6é6=—m%%=2bn
Iyﬂmzmm:—m%%:Sbn
lc :Iogzﬁz—logzgzl bit
I :Iogzﬁz—logZ%:S bit
A 3 B 6 C 3 D

I :3IA +6IB +3IC+2|D :33 b|t

2.1.2
H
H(X)=->" p(x)log. p(x)
i=1
m
2-2 2-1
H(X) ==Y p(x)log, p(%) 4
i=1
H(X)=->" p(x)log. p(x)
i=1
——llo l—llo l—llo 1—Elo 1
T 0y g 0T 59925 g %
=175 bit/
2.2
2.2.1
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2.2.2

R (@) =no  €[0,+0)
Py (a))=% ® € (—o0,+w)

o
2

2-1

Rla

Plew) 2

m

2-1

B S

C =Blog,(1+ g) (bit/s)

. 16

k-



B S C
N
N 0 C 0
S B C
N
B 0 C 0
o0
. . IS S S. nB S S S
limC=IlimBlog,(1+ —) = limBlog, 1+ —) =—Ilim—Ilog,(1+ —) =—Ilog, e=1.44—
am am 02 ( N) am 02 nOB) e S 02 ( nOB) o (SP] o
C B S
N
2-3 5x10° 64
16
100
30dB
| =log 1
- 2
p(x)
I]_:Ing l = 1 =lO b|t
p(x) 1
64x16
|, =5x10°l, =5x10° x10=5x10° bhit
R, =1001, =100x5x10° =5x10° hit/s
C>R, =5x10® bit/s
S
C=Blogz(1+ﬁ)
B:Ls
Iogz(l+ﬁ)
E=30dB E=1ooo
N N
3
B—_ © 5= A0 55 MHz
log, (1 +ﬁ) 0g,(1+1000)
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—1916 4 30

Petoskey 1936
1940 MIT
1941
1972 1956 MIT
1958 1978
2000 2 26 84

2.3 MATLAB

2-4 MATLAB
clear al
snrdb=-20:30; %0
SNR=10.(srdo/10); N D D D D
B=2, NS T U S S S W S 4
C1=B+l0og2(1+SNRY); R
ploi(srdb,C1,'b) N B R A
gridon L33 O S A S SIS S S S S-S i
hold on 7‘51
C2=(2+B)*log2(1+SNRY); §$40
plot(snrdb,C2,’r’) 1 -
gridon
C3=4»B*log2(1+SNR); 20
plot(snrdb,C3,’k’) "
xlabel(° SNR(dB)’)
ylt.aubel( <) 920 —15I “10 5 0 % 1‘0 15 20 25 30
gridon {51 L SNR(cB)
hold on

2.2 22 24

. 18.



bit

| =log,
%2 %)

H(X) =~ p(x)logz p(x) bt

C= Blogz(l+§) bit/s

ERVY 0.1031 0.0484 0.0083 0.0164

U3

30dB
4800hit/s
2.5%x10° 16
30dB 2min

EVERY
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® AM DSB-SC SSB

@

® FM

[ ]

S(t) = A(t) cos[ct + ()]
3.1
3.1.1 AM
f(t) C(t) = Ay cos(art + ¢p)
Sam (1) =[Ap + Ka T (t)] cos(@ct + ¢o)
A) ¢ ®o
Ka

o O Sam (t) =[A + f (t)] cosart

31 a
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fy— ? Seal®
4, cos @t
a AM
1@ Aot ()
0 t
b c

Wikl

31

f(t) F(o) Sam (1) Sam (@)

Sam (@) = hy[6 (@ + @c) + 6 (0 — )] +%[F(w +ac) + F (0 - )]

32
Sam (1) f(t)
SAM (a)) iUOC
SAM (CO)
2
31 f (t) = 2cos(2n x10°t)

C(t) = 5cos(2n x10%t)
33

. 21.
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F(H
Tf(t)
i A

0|/‘\\//\\/t<—> ]
EREETLT N E— } ‘ I

c
33 31
3.4

| i Spse(f)

£ : ? ) v
e

34
f(t) F(w) Soss (1)

C(t) = cosw,t
Spss (t) = f (t) coseoct

sDSB(w)=§[F(w+wc)+F(w—wc)]

Soss (@)
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50
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noA
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c DSB
35
Soss (1) f(t)
32 f (t) = cos(2r x10%t)
C(t) = cos(2m x10*t)
36
2
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F(f)
S0
T . | 4
NANNVANEIN ]
\/ \/ ! -1 kHz 0 1 kHz f
a
@) Cif)
—>
0 t
—10kHz 0 10 kHz f
b
() S
! ! !
: N T O
0 10 kHz
c
3-6 32
3.1.3 SSB
DSB-SC AM
DSB-SC
3-7
iz A1) Ssur(d)
cosant
3-7
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n
fo f. 311
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n= ¢
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f, 2f 2
fa= L=t== fL
n n n
foo = h = 2la = (2)2 fL
n n n
N
Z 0 r
a
NS
ki Msbvikg
\\ /\ /\ //
A | A
2f o 0 Jo 2f f
b
mopiemgs | .
A AR At
=2fo o 0 Jo 2fo S
c
39
i Sssr(f)
() h(5) - ha(?) —E—l-
cos it COS g1 5t cos @, t
3-10
H(f)
h
—/ 0 s 4
311
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2
fon = ()" fu
n
n>1%

3-3 300 3400 Hz
40MHz n =001

2\n
fcn = (_) fL
n

f; =40x10°Hz 7 =0.01 f_=300Hz
Ao 1g(fen/ fL) _ 1g(40x10°/300) _

2.23
Ig(2/7) 19(2/0.01)

p—— % 10089

340x10° /300
2 300~15385Hz

0.039

2
f, =2 xf,~788954Hz
2= 0039 ¢

f.s = 40MHz

fcl =

3-12

3 + 3 SHSH (f)
; : Oy
A @ N2

VSB
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3.2
3.2.1
RC 3-13
C
C
o [~ ’
- i
) T -
313
3-14
3.2.2
3-15
S () =[A + f(t)] cosart C(t) = coswt

R(t) = Sam (1)g(t)
=[A + f(t)]cosamtgosw.t

=%[A) + f(t)]dcos2od +1)

1 1 1
_E[AO+ f(t)]cosZa)Ct+EA) +§f(t)
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315
A 1
f)=="1(t
O=510
A
Ft) o £ (t)
3-16
34 3-17
3kHz
3-18
3.3
3.3.1
S(t)
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e Je 7
a
c(n
)
—
0 ‘
t
e 0 fc f
b
R(f)
0 2e 7
c
< o H0)]
Fi(f)
%A( MWM
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d
Fio) -
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¢
i 0 bE I
e
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F(f)
12kHz

AN f

—1MHz 0 1MHz

() CIfF S HiGEst

2HEfES

T ok
(b> A A 25 R

K] 3-17 1 3-4 S5 G AR TR a s e

F(f)
: 12kHz !
~1MHz 0 IMHz. f
(2 CfESHE
i
-1MHz 0 IMHz S
(o) AT AT
R(F)
_2MHz -IMHz —6kHz 0  6kHz 1MHz 2MHz F

() WEUIRIL st i 5 A
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S(t) = Acog@,t + o(t)]

A ot +o(t) o(t)
dlot + (1) de(t)
dt dt

Pt =k, f (1)
So (1) = Acog[aot + k. T (1)]

do(t) _
e k- f (t)

o(t) = jtw k. f (7)dz

S () = Acoslort + [ k-f(0)d]

f(t) = A, cosw,t

Sou (t) = Acos(at + K, A, cose,t)
= Acos(@,t + fpy COS®,,t)

Bou =kpA‘n

Sy (t) = Acos(a t + J‘j k-A,, cosw,, rdr)

= Acos(w,t + KAy sinaw,t)
,

m
= AcoS(@.t + Bry SN, L)

3-19

3-20
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(a) BTEENE S
cosat

-

(b) R T

L1 L L | U

(o) BITHRIRTE 5 ¥

AN A A AL R A A
IR ATV

(d) HITHRAIE 5 W

PM

“l“‘ ‘ “‘m“'l“l‘ ““LH
ARTRVRVATAL L TRV VARVATAIL |-

(e) BRITHHAHIE 5 W

<

3-19
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ke f O,

N o ola

U‘w ke f (r)dr
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S

////

(a) BBFET

NN NANNNS
AR VAIVAVAVAY/

(b) WAESEE

-

(o) IR SPIB

3-20
35 S(t) = Acog[ 2 x 10°t +100cos(2n x 10°t)]
k, =4 f(t)
ke =4 f(t)

Sy (t) = Acod[ oot + K, T (1)]
k, f (t) =100cos(2r x 10°t)
k,=4
f (t) = 25c08(2n x 10%t)
S, (t) = Acogm t + j‘ k. f (r)de]
[ kef (z)dr =100cos(2n x10°t)
ke =4
f (t) = —25sin(2r x 10°t)
o(t) =100cos(2n x10°t)

d(gft) =-100x 21 x 10° Sin(2m x 10°t)

Af o =100x10° =0.1 MHz
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321
e T s

AR
e s

Sg(0)
w1 g
BIES

321

f(H)
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Sh () = Acoslort + [ k-f(0)dz]
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Shu (1)
ols;IMt ® [ Ao, + Ak f (O] ginfot + [ k()]
Ao, + A T (t)
S (V) fo
ft)=kekeF(t) Ky
f(t) o f(t)
S0
3-23

S, (1) = Acogw,t + jtw k. f (z)dr]

‘ [ kf@ar)

T
<<=
max 6

S, (t) = Acosat —[Aj; k.f (r)dr]sinwgt

S (1) 9(-Sina )
A . At At
:—Eana)Ct—[EJ'_kaf(r)dr}cosZa)ct+EJ._kaf(z')dz'

- Ak
f(t)=—7Ff(t
O=—-10
f(t)ec £(1)
SO L mg s s a0

TP -sinoct
3-23

36 ke =2
Sy (1) =100cos[4n x 10°t + 10cos(2n x10°t)]V
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Sh () = Acosort + [k f(0)d]

[ k£ (r)dr =10c0s(2nx10°1)
w, = 4nx10°
f (t) = -5x 21 x10° sin(2r x 10°%t)
f. =2x10°
f (t) = —nx10% sin(2m x 10%t)

f =2MHz
_Ake  mx10*x2

O, 2nx10°
Pew =10

Bew

B=2(f + D,

=2(10+1) %1000
=22 kHz
3.4
3-1
31
AM 2B
DSB
DSB-SC 2By
SSB Bry
FM 2(Semt1)Bygy
Brey Jizy
SSB FM
3-24
S/N;=30dB FM
(AM)
FM FM
AM FM



70
60
50
—_ M
m
D 40 m=6
=2
;}o 30 m=3
DSB
20 - ssB
AM
10 -
O 1 1 1 1
10 20 30 40 50
Si/N;(dB)
3-24
3-7 MATLAB
5 0.7 50 1.0
clear al
N=800;
dt=0.001;
t=(0:1:No@+dt;
fm=5;
fc=50;
Ac=1.0;
Am=0.7;
AM=Acx (1+Am*cos(2* pi*fmxt)).» cos(2x pi*fcxt);
plot(t,AM,iBijl
xlabel (jfl AM ifl
hold on
df=0.01;
f=1:df:100;
S=ofZ 2+ pi;
for m=21:length(f)
F2(m)=0;
jw=s+f(m);

39



for k=1:length(t)
Fn=AM (K)* exp(jw+1(Kk));

F2(m)=F2(m)+Fn;
end
end
F2=abs(F2);
F2=F2.xdt;
plot(f,F2,ifljl
xlabel (jfl AM iyl
grid
3-25
2

0.4

0.35

0.3

0.25

0.2

40

50

80

90

60 70 100

HUES AM RS R

325 37
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3-8 MATLAB
5 0.7 50 1.0

clear all;

fs=360;

dt=1/fs;

t=0:dt: 1o€lt;

n=length(t);

beta=13.5;

fc=120;

fm=8;

FM=cos(2* pi*fc+t+betar cos(2x pi* fmxt));
plot(t,FM,B;ft,0«t,;Bijl

xlabel (jfl ijt
Ffm=(1/n)* abs(fft(FM));
F=Ffm(1:n/2);

F=[fliplr(F),F];

f=(0:ne@)of3/2;

stem(f,F,iflijt

plot(f,F,iflijt
axis([0#220,220,0,0.3));

xlabel (jfl ijt

3-26

AM DSB-SC SSB

o AM

2B, SSB By FM

f(1)

FM

2By
2(Ben +1Byyy

PM

DSB-SC

. 41.



. 42.

1l H

0.4

o 01 02 03 04 05 06 07 08 09
A ST+ (T

a

025

0.2

015

01F

0.05 |

000 156 W00 30 0 50 100 150 200
BTN SR SmE E
b 1

0251
02+

0.15 F

at || .||H|

L

200 -150 —100 —50 0 50 100 150 200
T R 55 T 1

[ 2

3-26 3-8




S(t) = cosw,,t cosmt C(t)=cosot o, =6w,
S(t) = (2+ Acos2nf  t) cos2nf t f =10kHz
f,=20MHz A=10
20dB 108 W
100dB
DSB-SC 2mw 100kHz
aHz P.(1) = 2x10°pWiHz
H (@)
5V f () =10° +10* cos(2n x 10°t) (H2)
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4.1
411
1
£(0) 0 f, ; £(t)
f(t) f.>2f,
4-2
6] §EG)
4-2
f.(t) = F (05, (1)
(1) F (o) 51 (@)
F(o)
F.(0) = S [F (©) 0, (0)]
T
0. (a))—ﬁiﬁ(a}—na)) 1) _2r
T - T S s T

N=—o0

0

amzﬁﬁw*zaw—mm

N=—o0

E@F%Hm
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f(t) fs(t)
F (@) 0 fto, *2mw,
Fs(@)
n=0
4-3
7 F(f)
1
t
/— —fu 0 fu
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f(t)=0.1cos(0.15xt)+1.5sin(3rt)+0.5c0os(4nt)
f=4 MATLAB
clear all;
dt=0.01;
t=0:dt:10;

ft=0.1x cos(0.15* pi*t)+1.5+ Sin(3+ pi*t)+0.5+ cos(4+ pit);
[f,ff]=T2F(t,ft);

fs=4;

sdt=1/fs;

t1=0:sdt:10;

st=0.1*cos(0.15+ pi*t1)+1.5+ sin(3* pi*t1)+0.5+* cos(4x pi t1);
[f1,sf]=T2F(t1,st);

t2=-50:dt:50;

gt=sinc(fsxt2);

stt=sigexpand(st,sdt/dt);

ft_t=conv(stt,gt);

figure(1)

subplot(311);

plot(t,ft);

axis([0 104 4])

title(’ );

gridon

subplot(312);

%plot(tl,st);
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stem(tl,st,’r.”);
axis([0 104 4])
title(” );
gridon
subplot(313);
t3=—50:dt:60+sdt—dt;
plot(t3,ft_t);

title(” );
axis([0 104 4])
gridon

function [out]=sigexpand(d,M)
N=length(d);

out=zeros(M,N);

out(1,:)=d;
out=reshape(out,1,M*N);

function [f,sf]=T2F(t,st)
dt=t(2)-t(2);

T=t(end);

df=1/T,

N=length(st);
f=—N/2«df :df :N/2* df —df;
st=fft(st);
SF=T/N=*fftshift(sf);
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5.7 MATLAB

5-4 MATLAB

clear dl;

n=20;

thb=1;

A=1;

dt=tb/100;t=[1:n/dt]* df;
D=2+randint(1,n)-1;
smb=Ax*ones(1,100);

dp=[];

for k=1:n,dp=[dp,D(k)*smb];
end

subplot(2,1,1);
plot(t,dp,’b’,t,0¢t,’b’);
axis([0,n,—2,2]);

xlabel(’ ’)
df=0.01;

fmax=3;

f=0:df:fmax;

pf=(tbx A"2)* sinc(tbxf).~2;
subplot(2,1,2);
plot(f,pf,’r’,f,0+f,’r’)

xlabel(’ )

5-24
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5-5

clear all;

dt=0.01;

ts=1,;

gi=0.5;

tn=5;

t=—tn:dt:tn;

t=t+eps;

t1=sinc(t./ts);

t2=cos(gj* pi*t./ts)./(1-4* (gj*t./ts)."2);

t3=cos((gj+0.2)* pi*t./ts)./(1-4* ((gj+0.2)
*1./t5).~2);

t4=cos((gj—0.2)* pi*t./ts)./(1-4* ((gj—0.2)
*1./t5).~2);

hl=t1.*t2;

h2=t1.#t3;

h3=t1.xt4;

plot(t,h1,’b’ t,0¢t,’b’)

hold on

plot(t,h2,’r’,t,0+t,’r’)

hold on

plot(t,h3,’g’,t,0+t,’g’)

grid;

5-25
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6.4 MATLAB

6-1 MATLAB
2ASK 2PSK 2FSK

clear all;

A=1;

fc=4;

chouyd=8;

n=500;

ts=1;

dt=tg/fc/chouyd;

t=0:dt:n*ts-dt;

It=length(t);

d=sign(randn(1,n));
dd=sigexpand((d+1)/2,fcx chouyd);
gt=ones(1,fcx chouyd);

figure(1)

subplot(211);

dnrz=conv(dd,gt);
plot(t,dnrz(1:length(t)));
axis([11001.2]);

title(” );
subplot(212);
[f,dnrzf]=T2F(t,dnrz(1:length(t)));
plot(f,10«10g10(abs(dnrzf).~2/ts));
axis([-4 4 -50 60]);

title(” dB/Hz *);
figure(2)

ht=Ax* cos(2* pi*fcxt);
Yask=2*dnrz—1
sask=dnrz(1:1t).xht;

subplot(211)

plot(t,sask);

axis([010-1.21.2));

title("’2ASK );
[f,saskf]=T2F(t,sask);
subplot(212)
plot(f,10+10g10(abs(saskf).~2/ts));
axis([-fc-8 fc+8 —50 50]);
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title(’2ASK dB/Hz *);

figure(3)
psk=2*dnrz-1;

spsk=psk(L:1t).xht;

subplot(211)

plot(t,spsk);

axis([010-1.21.2));

title(’2PSK );

subplot(212)

[f,5pskf]=T2F(t,spsk);
plot(f,10+10g10(abs(spskf).A2/ts));

axis([-fc-8 fc+8 50 50]);

title(’2PSK dB/Hz °);
figure(4)

fsk=2xdnrz-1,;

sfsk=Axcos(2+ pi* fcx t+2x pixfsk(1:length(t)).x t);
subplot(211)

plot(t,sfsk);

axis([010-1.21.2));

xlabel (’t*);

title(’2FSK );

subplot(212)

[f,sfskf]=T2F(t,sfsk);
plot(f,10+10g10(abs(sfskf)."2/ts));

axis([-fc-8 fc+8 -50 50]);

xlabel (’f);

title(’2FSK dB/Hz °);

function [f,sf]=T2F(t,st)
dt=t(2)-t(1);

T=t(end);

df=1/T;

N=length(st);

f= —N/2* df :df:N/2x df —df;
sf=fft(st);
Sf=T/N=fftshift(sf);

function [out]=sigexpand(d,M)
N=length(d);

out=zeros(M,N);

out(1,:)=d;
out=reshape(out,1,M* N);

6-34
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7.2.3

1
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7.3 MATLAB

3sin60nt  4sin80mt

MATLAB

7-1 sin20nt  2sin40nt
f, =1000Hz
y

clear

n=1:100;

x1=sin(0.01* n* 2 pi);

x2=2xsn(0.02* n+* 2% pi);

x3=3+sin(0.03+ n* 2+ pi);

x4=4+sin(0.04x n* 2+ pi);

x1tmp=reshape(x1,4,25);

x2tmp=reshape(x2,4,25);

x3tmp=reshape(x3,4,25);

x4tmp=reshape(x4,4,25);

z=zero0s(4,25);

y=zeros(1,100);

z(1,:)=x1tmp(1,:);

Z(2,))=x2tmp(2,:);

2(3,:)=x3tmp(3,:);

Z(4,))=x4tmp(4,’);

y=reshape(z,1,100);

Y

figure(1)

plot(n,y);
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7-2 OFDM MATLAB OFDM

clear all;
Fd=1;
Fs=1xFd,
M=4;
Ndata=1024;
Sdata=64;
Slen=128;
Nsym=Ndata/Sdata;
Gllen=144;
Gl=16;
X=zeros(Ndata,1);
Y 1=zeros(Ndata,1);
Y 2=zeros(Ndata,1);
Y 3=zeros(Slen,1);
z0=zerog(Slen,1);
z1=zeros(Ndata/Sdatax Slen,1);
g=zeros(Gllen,1);
z2=zerog(GllenxNsym,1);
z3=zerog(GllenxNsym,1);
X =randint(Ndata, 1, M);
Y 1 = modmap(X, Fd, Fs, 'gask’, M);
Y 2=amodce(Y 1,1,'gam’);
for j=1:Nsym;
for i=1:Sdata;
Y 3(i+Slen/2-Sdatal2,1)=Y 2(i+(j—1)* Sdata,1);
end
Z0=ifft(Y3);
fori=1:9en;
z1(((j—1)* Slen)+i)=20(i,1);
end
fori=1:9en;
o(i+16)=20(i,1);
end
fori=1:Gl,
o(i)=z0(i+Slen-Gl,1);
end
for i=1:Gllen;
22(((—1)* Gllen)+i)=g(i,1);
end
end
figure(1);
f = linspace(—Sdata, Sdata,length(z1));
plot(f,abs(z1));
Y 4 = fft(z1);
for j=1:Ndata/Sdatax Slen;
if abs(Y4(j)) < 0.01

136-



Y4(j)=0.01;
end
end
Y 4 = 10xlog10(abs(Y 4));
figure(2);
f = linspace(—Sdata, Sdata,length(Y 4));
plot(f,Y4);
axis([-Slen/2 Slen/2 -20 20]);
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8.7 MATLAB

8-6 0100 0000 0000 0000 0101 0110
X8+ xB +x% +1 MATLAB CRC
clear dl

clc
msg=[010000000000000001010110QJ;
display('Message:")
msg
r=zeros(1,16);
for c3=1:length(msg)

sl=hitxor(msg(c3),r(1));

s2=hitxor(s1,r(12));

s3=hitxor(sL,r(5));

r=[r(2:16) s1];

r(11)=s2;

r(4)=s3;
end
msg_FCS=[msg r];
display('Message + FCSfield:")
msg_FCS
msg =
Columns 1 through 13
0 1 0 0 0 0 0 0 0 0 0
Columns 14 through 24
0 0 0 0 1 0 1 0 1 1 0
msg_FCS=
Columns 1 through 13
0 1 0 0 0 0 0 0 0 0 0
Columns 14 through 26
0 0 0 0 1 0 1 0 1 1 0
Columns 27 through 39
1 0 0 1 1 1 1 0 0 1 1
Column 40
0

8-7 MATLAB m

m
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function [m_out]=m_sequence(fbconnection,m,chu)
len=length(fbconnection);
n=2"en-1;
register=chu;
fan=0;
fori=1l:n*m
m_out(i)=register(len);
for k=1:len
fan=fan+fbconnection(k)+ register(k);
end
fan=mod(fan,2);
newregister(1)=fan;
for j=2:len
newregister(j)=register(j-1);
end
register=newregister;
fan=0;
end

fbconnection=[0 1 0 1];

m=1;

t=length(fbconnection);
chu=[zeros(1,t-1),1];
m_out=m_sequence(fbconnection,m,chu);
display(' m_out:")

m_out

m_out =

Columns 1 through 13

1 0 0 0 1 0 1
Columns 14 through 15

0 0

deetl
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t do>2t+1
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111011010100 G(X)=x® +x+1 CRC
51 10000
m
m f()=x+x+1
101100101011101
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